We the undersigned members of the Committee on Award, after careful deliberation on several prices quoted in the shopping / bidding for For the regular repair, replacement, and maintenance of garbage truck and garbage truck parts GT #12, GT #11, CT #2, DT #3, GT #1, GT #7 as can be seen in the herein attached abstract of prices, hereby unanimously decide to accept the bids itemized there under for being the lowest calculated responsive bid to the government and awarding the same to the respective bidders.

The Items Awarded to:

BRIGHT GENERAL MERCHANDISE

PHILGEPS Reg. No. 2013 - 214602

The items	Awarded to:	BRIGHT GENERAL MERCHANDISE	LGEF5 Neg. No.	(1019) 31 100
QTY.	UNIT OF	ITEM & DESCRIPTION	UNIT PRICE	TOTAL PRICE
1	unit unit	SUB TOTAL 1 SUB TOTAL 2	77,820.00 41,706.00	77,820.00 41,706.00
		GRAND TOTAL		119,526.00

IN WITNESS WHEREOF, we hereby affix our signatures this

in the City of Calapan.

ENGR. MOSS L. SIMBAHAN

Engineer II
BAC Member

DULCE AMOR E. LAO

Planning Officer III
BAC Member

REY DANIELS. ACEDILLO

City Legal Officer

BAC Member

Dr. FEBY DAR C. MANGLICMOT

City Veterinarian BAC Vice - Chairperson Engr. BENJAMIN L. ACEDERA

City Engineer BAC Chairperson WILFREDO G. LANDICHO

City ENRO

Approved by:

MARILOU MORILL

Award 2021 v. 0

We the undersigned members of the Committee on Award, after careful deliberation on several prices quoted in the shopping / bidding for For the regular repair, replacement, and maintenance of garbage truck and garbage truck parts GT #12, GT #11, CT #2, DT #3, GT #1, GT #7 as can be seen in the herein attached abstract of prices, hereby unanimously decide to accept the bids itemized there under for being the lowest calculated responsive bid to the government and awarding the same to the respective bidders.

The Items Awarded to:

BRIGHT GENERAL MERCHANDISE

PHILGEPS Reg. No. 2017 - 214602

QTY.	UNIT OF ISSUE	ITEM & DESCRIPTION	UNIT PRICE	TOTAL PRICE
		GT #12 Plate No: CAD-7890		
		Engine No: 6HEI-862589		
		Chassis No: NRR32C1-3003614		
4	pcs	Spring bushing	216.00	864.0
2	pcs	Center bolt	134.00	268.0
1	рс	Leaf spring	14,491.00	
2	pcs	Flap	544.00	1,088.0
2	pcs	Inner tube 825x16	992.00	
1	рс	Flap	545.00	
1	рс	Hydraulic hose assy	3,794.00	3,794.0
	,	GT #11 Plate no:		
		Engine No:		
		Chassis No:		
1	рс	Center bearing w/ rubber collar	2,796.00	
1	рс	Wheel axle	6,194.00	
6	pcs	Stud bolt	691.00	
1	set	crank shaft pulley	11,794.00	11,794.0
		Compactor #2 Plate No:CBT-1734		
		Engine No: 6HL1-345944		
		Chassis No: FRR35G4-7001776		
1	рс	Clutch master assy	5,496.00	
1	liter	Brake fluid	474.00	1
1	lot	Labor: replace of clutch master	2,991.00	
2	pcs	Differential oil seal	544.00	
1	рс	Radiator hose	1,192.00	
2	pcs	Radiator hose clamp	375.00	1
1	рс	Clutch lining	1,794.00	
1	lot	Overhaul/Repair radiator	2,496.00	2,496.0
		DT #3 Plate No:		
		Engine No: 4D31-395463		
		Chassis No: FE434E-AA4972		
1	lot	Machining of propeller - PTO	6,492.00	
1	рс	PTO cable	3,495.00	
2	pcs	Cross joint	1,794.00	3,588.0
		SUB TOTAL 1		77,820.

in the City of Calapan.

ENGR. MOSS L. SIMBAHAN

Engineer II **BAC Member**

City Veterinarian

BAC Vice - Chairperson

DULCE AMOR E. LAO Planning Officer III

BAC Member

Dr. FEBY DAR C. MANGLICMOT

Engr. BENJAMIN L. ACEDERA

City Engineer AC Chairperson WILFREDO &. LANDICHO

REY DANTES. ACEDILLO

City Legal Officer

AC Member

City ENRO

Approved by:

MARILOU . MORILLO

City Mayor

We the undersigned members of the Committee on Award, after careful deliberation on several prices quoted in the shopping / bidding for For the regular repair, replacement, and maintenance of garbage truck and garbage truck parts GT #12, GT #11, CT #2, DT #3, GT #1, GT #7 as can be seen in the herein attached abstract of prices, hereby unanimously decide to accept the bids itemized there under for being the lowest calculated responsive bid to the government and awarding the same to the respective bidders.

The Items Awarded to:

BRIGHT GENERAL MERCHANDISE

PHILGEPS Reg. No. 2017-214602

QTY.	UNIT OF ISSUE	ITEM & DESCRIPTION	UNIT PRICE	TOTAL PRICE
		GT #1 Plate No: CAK 3030		
		Engine No: 6HHI - 208706		
		Chassis No: NRR33C1-3000654		
2	pcs	Hanger w/shockle	8,996.00	
2	pcs	Engine support	1,996.00	
2	pcs	Transmission support	1,996.00	3,992.00
		GT #7 Plate No:SFW-777		
		Engine No: 6BGI-68749		
		Chassis No: FRR12DA-3526964	744.00	746.00
1	рс	Flexible hose	744.00	
1	рс	Tie rod end	5,796.00	
1	рс	Leafspring (Madre)	2,596.00	
1	рс	Hydraulic hose w/ fitting	3,596.00	
1	рс	Release bearing	2,996.00	2,996.00
			,	
		SUB TOTAL 2	9 717A //	41,706.0

in the City of Calapan.

ENGR. MOSS L. SIMBAHAN

Engineer II **BAC Member** DULCE AMOR E. LAO

Planning Officer III **BAC Member**

REY DANIELS. ACEDILLO

City/Legal Office

BAC Member

FEBY DAR C. MANGLICMOT

City Veterinarian BAC Vice - Chairperson Engr. BENJAMIN L. ACEDERA

City Engineer **BAC Chairperson** WILFREDO &. LANDICHO City ENRO

OFF. MORILLO City Mayor

Approved by:

Award 2021 v. 0

We the undersigned members of the Committee on Award, after careful deliberation on several prices quoted in the shopping / bidding for For the regular repair, replacement, and maintenance of garbage truck and garbage truck parts GT #12, GT #11, CT #2, DT #3, GT #1, GT #7 as can be seen in the herein attached abstract of prices, hereby unanimously decide to accept the bids itemized there under for being the lowest calculated responsive bid to the government and awarding the same to the respective bidders.

BRIGHT GENERAL MERCHANDISE

PHIL GEPS Reg No. 27 1462

he Items	Awarded to:	BRIGHT GENERAL MERCHANDISE	PHILGEPS Reg. No.	2/1 2/4000
QTY.	UNIT OF ISSUE	ITEM & DESCRIPTION	UNIT PRICE	TOTAL PRICE
1 1	unit unit	SUB TOTAL 1 SUB TOTAL 2	77,820.00 41,706.00	77,820.00 41,706.00
ı				
				,
		GRAND TOTAL		119,526.0

IN WITNESS WHEREOF, we hereby affix our signatures this

in the City of Calapan.

ENGR. MOSS L. SIMBAHAN

Engineer II **BAC Member**

DULCE AMOR E. LAO
Planning Officer III **BAC Member**

REY DANIELS. ACEDILLO

City Legal Officer

FEBY DAR C. MANGLICMOT

City Veterinarian **BAC Vice - Chairperson** Engr. BENJAMIN L. ACEDERA

City Engineer **BAC Chairperson** WILFREDO G. LANDICHO

City ENRO

Approved by:

MARILOU F. MORILLO City Mayor

Award 2021 v. 0